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Traditional versus Modern 

Modern approaches to costing, budgeting and control: 

• Less focus on number-crunching and ‘the pack’ 

• Less focus on ‘blind’ cost reduction 

• Less focus on the past 

• Less focus on internal results and outcomes 

• Less of an operational activity 

 

• More focus on ‘competitive advantage’ 

• More focus on long-term sustainability and business STRATEGY 

• More focus on non-financial KPIs 

• More focus on ‘relevance’ instead of ‘rules’  

• More of a strategic activity 

 



Traditional Costing 

Mark-up £ 

STEP 1: Cost 100 

STEP 2: Profit 20 

STEP 3: Selling price 120 



Calculating a product cost 

Absorption Costing Cost Card 

Direct materials (2kg @ £7.50 per kg) £15 

Direct labour (3 hrs @ £10 per hr) £30 

Direct expenses (£30 for machine hire) £30 

PRIME COST £75 

Production overhead cost (3 hrs @ £5 per hr) £15 

Non-production overhead cost (% of advertising spend per 

unit) 

£10 

FULL COST £100 

Mark up 20% 

PRICE £120 



Traditional Costing 

Problems with Traditional costing 

• Focus on the past - costs become out of date quickly 

• “Random” basis for apportioning costs 

• Singular basis for apportioning costs 

• Volume (hours, units) may not be the driver of costs at all 

• Ignores external factors – how will “the cost” be received by the market 

 

 

 



Relevant costing 

Relevant costs 

• Future 

• Incremental 

• Cash flows 



Example 



Example 



Traditional Control – Ratios 

Profitability 

• Gross margin % 

• Operating profit margin % 

• Net profit margin % 

• Asset turnover  

• Return on capital employed % 

 

 



Traditional Control – Ratios 

Return on capital employed % (ROCE) 

 

Profit before interest and tax     = % 

           Equity and long term debt 

 



Traditional Control - Ratios 

Disadvantages 

• Easily manipulated 

• Discourages investment 

• Ignores required return 

• Short-termism 

 



Modern Control - Ratios   

EVA ©  

• Devised by Stern Stewart 

• Adjust for items which add economic value but accounting standards disallow 

 

 



Economic Value Added (EVA) ©  

Conflict between reported figures and true performance 

• Training 

• Marketing 

• R&D 

• Salaries 

• Depreciation 

 

 

 



Questions 

 

 

 



The information contained in this presentation or 

delivered in relation to it has been compiled by its author 

with every effort made to ensure its accuracy.  AAT is not 

responsible for its veracity, nor for any opinions 

expressed within or in relation to it. 
 

By receipt of this information, direct or indirectly, you the 

attendee or recipient release AAT and any of its Officers, 

Directors or employees, jointly or individually, from any 

actions, damages, responsibilities, claims or losses as a 

result. 
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